
2013

1. D

m n m n

m n

2. C

3 1n

3. D

7 T 0 3

4. B

6

(2 3) 3 (4 5) 2 (6 7) 1 46

5. A

X

X

6. C

7. C

8. D

D

9. C

5 

2 

1 4 

6 

7 

3 
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AOE

10. A

2 5 B 5

2 B

11. C

1 2

C

12. C

CPI 2 0.5 3 0.2 4 0.1 5 0.2 3 1.2GHa 1

200MHz MIPS 1 200/3=400

13. A

IEEE 754 C640 0000H 1100 0110 0100 0000

0000 0000 0000 0000

S

1 1000 1100 100 0000 0000 0000 0000 0000

131.5 2

14. A

x y 1 1000000

A

15. C

k n 2 1k n k 8n

4k 42 ( 16) 8 4 1( 13) 4

16. A

03FF F180H 03FFFH 180H

03FFFH 0153H

015 3180 H

17. D

4000H

18. C

 

1000 H

  

2000 H         

1000 H 2000 H

2000 H 3000 H

3000 H 4000 H
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4 100 4 (100 1) 103

CPU 1.03 GHz 1.03 G
91.03G 100 /103 1.0 10 /

19. B

USB B

20. B

RAID

21. B

10 000 / 6 ms

3 ms 6 ms 4 KB 0.2 ms

0.2 ms 3+6+0.2+0.2=9.4 ms

22. D

I/O CPU

CPU I/O CPU

CPU

DMA DMA

CPU I/O DMA

CPU

D

23. A

24. A

25. C

C

26. A

A

27. C

1 105 2

1 2 105

2 90 300 C

28. B

read B

29. D
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RAM

D

30. B

31. B

CPU I/O

B

32. B

B

33. B

OSI OSI

B

34. A

0011 0110 A

35. D

8 Mb/10 Mb/s=800 ms

800 ms 1 600 ms 10

kb/10Mb/s=1 ms 1 ms

800 801 ms

36. B

CSMA B

37. A

HDLC HDLC 0111 1110

5 1

0 A

38. B

14

6 B 0.48 s

39. B

1 TCP seq=1913 ack = 2046

100 TCP seq1=ack=2046

ack1=seq+100=2013 B
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40. A

SMTP

SMTP 7 ASC II

 

41.

1 4

Num

Num

 Num

c Num 1 Num 1

1 0 c 1

 c c

n/2

2 7

int Majority ( int A[ ], int n )

{

int i, c, count=1;      / / c count

c = A[0];            / / A[0]

for ( i=1; i<n; i++ )       / / 

if ( A[i] = = c )

count++;     / / A

else

if ( count > 0)  / / 

count--;

else         / / 

{ c = A[i];

SMTP SMTP

SMTP

SMTP

TCP

POP3 POP3

SMTP

POP3

TCP

TCP

SMTP
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count = 1;

}

if ( count>0 )

for ( i=count=0; i<n; i++ ) / / 

if ( A[i] = = c )

count++;

if ( count> n/2 ) return c;     / / 

else return -1;              / / 

}

1 2

1 2

1 2

O ( n ) O ( 1 ) 4 7

O ( n ) O ( n ) 4 6 Majority1

O ( nlog2n ) 3 6

O ( n2 ) 3 5

int Majority1 ( int A[ ], int n) / / O ( n ), O ( n )

{

int k, * p, max;

p = ( int * ) malloc ( sizeof ( int ) * n );          / / 

for ( k=0; k < n ; k++ ) p [k] =0;               / / 0

max = 0 ;

for ( k=0; k<n; k++ )

{ p[ A[k] ] ++;                             / / +1

if (p[A[k] ] >p [ max ] ) max = A[k];      / / 

}

if ( p[ max ] > n/2 ) return max;

else return -1;

}

C C++ Java C
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3 2

O n O 1

1

42.

1 2

1

= 0.35 1+0.35 2+0.15 3+0.15 4=2.1 2

2

2

1

=0.35 1+0.35 2+0.15 3+0.15 4=2.1 2

2

1

=0.15 1+0.35 2+0.35 2+0.15 3=2.0 2

1 2

2

1

43.

1 CPU 1/800 MHz = 1.25 ns 1

1/200 MHz = 5 ns 1

4 B 200 MHz = 800 MB/s 4 B/5 ns = 800 MB/s 1

2 Cache 32 B Cache

1

3 32 B 1

for

do while

repeat

1

repeat

do while

for

2

淘宝店铺：【考研党之家】考研公共课、专业课全程网课 
金牌考研咨询老师v信 15713085213（院校选择一对一咨询）

第 7 页，共 10 页



40 ns/8 = 5 ns 1

40 ns 8

5 ns + 40 ns + 8 5 ns = 85 ns 2

4 BP CPU Cache Cache

100 4 1.25 ns = 500 ns 1

Cache 1.2 100 5% 85 ns = 510 ns BP CPU

500 ns+510 ns=1 010 ns 2

= CPI +

44.

1 16 PC +2 1

OFFSET 8 -128~127

127 2

OFFSET

2 C = 0 Z = 1 N = 1 ZF NF CF=0

ZF=0 NF=1 1 1110 0011B=E3H

FFE3 H 2 FFC6 H PC

200CH+2+FFC6H=1FD4H 2 CF = 1 ZF = 0 NF = 0 1 PC

200CH+2=200EH 1

3 C Z N C=Z=1 N=0 3

4

3

45.

Semaphore empty = 500;  / / 2

Semaphore mutex = 1;    / / 2

i;

{

P ( empty );

P ( mutex );

;

V( mutex );

;

P ( mutex );
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;

V( mutex );

V( empty );

}

coend 3

1 1 4

 mutex P V 2

 empty P V 1

 ~

46.

1 12 4 KB 1

232/4K=220 220 4 B=4 MB 2

2 ( ( ( unsigned int ) ( LA ) ) >> 22 ) & 0x3FF 1

( ( ( unsigned int ) ( LA ) ) >> 12 ) & 0x3FF 1

 ( ( unsigned int ) ( LA ) ) >> 22 LA

 

C

3 1 0000 8000H 8 8

8 = +8 = 0020

0000H+8 4 = 0020 0020H 3

5 1 2 1 1 2 1

3 1

47.

 

 

 

 

00901H

00900H 

 

 

 

2 

1 

0090 1000H

0090 0000H

0020 0024H

0020 0020H
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1 6 AS1 153.14.5.0/25 153.14.5.128/25

153.14.5.0/24 AS2 194.17.20.0/25 194.17.21.0/24

194.17.20.0/23 194.17.20.128/25 194.17.20.128/25 R2

E0

R2

153.14.5.0/24 153.14.3.2 S0

194.17.20.0/23 194.17.24.2 S1

194.17.20.128/25 E0

 1 2 6 IP

0.5 0.5 IP 0.5

0.5

 3

2 IP IP 194.17.20.200 194.17.20.0/23 194.17.20.128/25

R2 E0 1P 1

3 R1 R2 BGP4 BGP 1 BGP4

TCP 1

EGP EGP IP
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